UNIT 5:  DISC BRAKE DIAGNOSIS AND REPAIR

UNIT 5 TEST

Section A — Match the following definitions with the correct terms.  All of the terms will not be used.


1.
A front-wheel hub component that allows the wheels to be steered.


2.
A chamber that encloses a piston.


3.
A nonrotating disc brake component that forms the cylinder and contains the piston(s) and brake pads.


4.
A metal component sometimes used to fasten the caliper to the knuckle.


5.
A brake lathe component that determines the start and speed of the cut.


6.
On a brake lathe, the machine part that does the cutting. 


7.
The loss of brake effectiveness due to heat created during prolonged hard braking.


8.
A piece that surrounds an instrument’s dial and is used to index the dial.


9.
Component on which the wheel is bolted.


10.
A hydraulically activated caliper component that applies the brake pads to the rotor.


A.
Adapter

B.
Bezel

C.
Brake fade

D.
Brake pulsation

E.
Caliper

AA.
Cross-feed lever

AB.
Cross-slide

AC.
Cylinder bore

AD.
Dial indicator

AE.
Hub

BA.
Knuckle


BB.
Piston

BC.
Tool bit

BD.  Transfer passage

Section B — Read the following statements made by Technicians A and B.  Indicate which is correct by selecting from the four choices listed.


11.
Technician A says that to determine rotor parallelism, the rotor should be checked in 12 different locations. 



Technician B says that in order to be parallel, a rotor’s thickness should not vary more than .05 in. 



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


12.
Technician A says that disc brake calipers are returned to their resting position by return springs. 



Technician B says that disc brake calipers are returned to their resting position by piston seal deflection. 



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


13.
Technician A says that a floating caliper system usually has four pistons, two on each side of the rotor.



Technician B says that a fixed caliper system uses one piston per rotor.



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


14.
Technician A says that in most vehicles with disc brake systems, the wheel is bolted to the rotor.



Technician B says that in disc brake systems, the rotor revolves with the wheel.



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


15.
Technician A says that drum brakes are generally more effective than disc brakes. 



Technician B says that some disc brake rotors are ventilated to help dissipate heat more efficiently.



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


16.
Technician A says that a rotor that is too thin can cause pedal pulsation.  



Technician B says that a rotor that is too thin can cause brake fade.



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


17.
Technician A says to remove runout, reduce the rotor thickness by one-half of the runout measurement. 



Technician B says if the rotor’s thickness is less than the minimum thickness specifications, machine the rotor until the runout is under .006 in.



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


18.
Technician A says that when machining rotors, the depth of cut should be less than .004 in to allow for proper heat transfer from the tool bit to the rotor. 



Technician B says that when machining rotors, if the first cut is made at high speed, the depth should not exceed .010 in.  



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


19.
Technician A says to use heat to help remove a stuck caliper piston.



Technician B says to lubricate rusted caliper pistons with clean brake fluid before reinstalling them.



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


20.
Technician A says that after testing or servicing the hydraulic system components, always check and refill the master cylinder. 



Technician B says that after testing or servicing the hydraulic components, always make sure the hydraulic system is free from air. 



Who is correct?
A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.

Section C — Select the best answer from the five choices listed.


21.
Annual inspections of brake lining are recommended for all vehicles with more than 


A.
20,000 miles.


B.
40,000 miles. 


C.
60,000 miles.


D.
80,000 miles. 


E.
100,000 miles. 


22.
During caliper reassembly, all old rubber parts should be


A.
inspected.


B.
cleaned with brake cleaning solvent.


C.
cleaned with crocus cloth.


D.
lubricated with brake fluid.


E.
replaced.


23.
Replace a caliper when its bore damage is in excess of


A.
.001 in.


B.
.002 in.


C.
.005 in.


D.
.010 in.


E.
.015 in.


24.
When compressing pistons on fixed calipers, if the rotor is deeply grooved or if the caliper cannot be forced off the rotor


A.
place the clamp screw against the outer brake pad.


B.
disconnect the correct caliper fasteners.


C.
remove the caliper and rotor together.  


D.
disconnect the hydraulic system from the caliper.


E.
None of the above


25.
For a brake rotor to be parallel, no two micrometer measurements should vary by more than 


A.
.0001 in.


B.
.001 in.


C.
.002 in.  


D.
.005 in.


E.
.010 in.

